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gtk W83 gowE mx  TEE | 923 6 7 505 | 6.0 |56.3% 18 8%
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BEEE (TH27 ~RHTEE) ORES 2 0BO TR 479.6 | 6.5 |70.8%] 313
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1] H303.18 | EB|FE1EE |RFE BEM  |EEH R2.7.14 279 | 4205 | 55.0 8.5 2.3 7 2.00 A4 |[+HIHEBERtEVA—
2|TERER H30.3.22 |XZ|BEM12 |TEB 2hBH |[oABTH  |R2.7.20 280 | 5315 | 73.0 8.4 2.2 4 1.00 A3 |RE—EVE=ZFE—DtV5—
IIKES H30.4.3 EB|EES XEE 2hBH |oABTH  |R2.8.28 289 | 4045 | 520 7.2 15 7 2.00 A4 |FHIHEBERtEVS—
4 AEE H304.13 | EB|REA TR HEH |AFfT R2.8.27 285 | 4950 | 77.0 7.6 1.8 9 2.67 A5 |REEATE
5| K— H30.4.15 | &8 |T5kH XER +FHET |EAFA R2.7.15 27.0 | 4940 | 62.0 7.9 3.2 8 2.33 AL |EHEEATHES
6| KEF H305.11 | EB|$17EE |BE85M3|oh%Hh |[oASm |R2.8.19 273 | 4270 | 500 7.1 26 4 1.00 A3 |REEATES
1|8&1E H30.5.21 |EP|EEHBE |REA FRHET  |GEHET B2
8|HEH= H30.5.30 |EB|F2F %k |Ba12 |45 |[oASH |R2.9.16 276 | 591.0 | 59.0 8.9 25 3 0.67 A3 |RE—EV=FE—Dt 5—
9| HkE H30.7.9 RSB FEITEE | FEE tFHE | tFHr [ 4t
10|&Eh H303.13 | T |F1TEE |REA Fdm | FENE R2.8.27 295 | 4650 | 59.0 6.8 1.5 5 1.33 AL |EREEBATS
11|IEHERpYC H30.4.3 HT|FER FI1EE |ohBH |2h%H |R2.10.26 | 30.8 | 5245 72.0 8.3 3.8 5 1.33 A3 |RA—FEUZFE—Jt 45—
12|93y H304.14 |9 |E2BE |5 BEN  |EEH R2.10.1 296 | 4650 | 63.0 78 | 29 10 3.00 A5 |HEBATS
13|T5%% H304.16 |HT|LTER Tk oW | tFH R2.9.25 294 | 4550 | 62.0 7.2 2.4 3 0.67 A3 |REEBATS
14|Lst=h H30.4.25 |&H7 | RiE165QD|FEFN  |FHEH R2.10.1 293 | 4960 | 79.0 8.1 2.3 6 1.67 AL |REEBATS
15| E H304.28 |9 |5E55E4E |FE1/€E |+HF0AT [+HFHET |R2.10.15 | 29.6 | 413.0 | 46.0 6.7 3.0 4 1.00 A3 |REEBATES
16| =1+ % H30.5.4 HT|EBEX Ri2165Q|+FH™ | EFHET R2.8.12 273 | 4290 | 620 6.8 2.2 4 1.00 A3 |REEBATS
17|2F H30526 |7 |21t [dkE7D8 | LFET  |LFHE R2.12.9 30.5 | 4405 63.0 7.1 1.4 2 0.33 A2 |+HHBEARtEVS—
18|25 H30.528 |&HF |@&@%E #URER A |FEA Fx 4t
19| DIFEpY H30.6.1 HT|F1EE | Tl RALET | ERACEr B st
I | 287 | 4701 62.3 7.6 2.4 5.4 0.96 AERUESE 46.7%
n= 15 15 15 15 15 15 15 5% kE 13.3%
e | BE | 0—X | NS | BT IR L= [s%K=x
A 5 (kg) (cm2) | (cm) | (cm) |(BMSNo)| (%) (%)
£8 (n=7) 279 | 4805 | 61.1 79 | 2.3 6.0 57.1% | 14.3%
HY (n=8)] 295 | 4610 | 63.3 74 | 24 4.9 37.5% | 12.5%
24k (n=15] 28.7 | 4708 | 622 7.6 2.4 5.4 46.7% | 13.3%
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1| H30.3.19 | XZ|LEA =53 FALET  |ERALET R2.9.24 30.2 | 5100 | 61.0 8.5 26 7 2.00 AL |EHEEATHES
ERE H304.29 |EB|FE1EE |RFE J\F#_|&FHE R2.7.30 271 | 5410 73.0 7.8 35 10 3.00 A5 |REEATE
3K H30.5.1 o A R ER AFHET | EFHE R2.9.18 286 | 5595 | 64.0 8.2 1.7 5 1.33 A4 | RE—EVE=ZFE—DJHVE—
4| B H30.7.10 | X |XZERE |FE1/€E |+HF08T [+HFHET |R2.11.10 | 28.1 | 586.0 | 62.0 7.7 25 7 2.00 AL |REEBATS
5|BTE H30.7.16 | EB|F11EE |RFE =FHr |2ohAm |R2.12.23 | 29.3 | 4680 | 50.0 75 3.4 5 1.33 AL |REEATS
6|BTE H30.7.18 | EB|E1EE |REA mEET  [oABH |R2.11.17 | 280 | 5165 | 77.0 7.0 1.9 6 1.67 A4 | RE—EVE=ZFE—TJHVS—
7|4 H30.7.20 |EZ|H#ET Ll =FHE |[=FE  [R2.12.16 | 289 | 4300 | 660 | 6.7 | 15 10 3.00 A5 |RE—EVEFE—TJt 48—
8|BFE H30.7.24 | EB|FRFE F2FEXE |BFE |HFHE R2.12.19 | 28.9 | 4555 71.0 7.3 25 7 2.00 AL | REA—FEUZFE—TJtV 45—
9|fEBN H30.7.31 | EB|F11HEE |REA NPT |FEH R2.12.10 | 284 | 493.0 | 68.0 8.5 2.1 9 2.67 A5 |REEBATE
10| BEEN H308.12 | EB|FEE ARE 2hBH [oABH |[R2.11.17 | 272 | 5810 | 68.0 9.0 3.0 9 267 A5 |RE—EVZ=ZFE—TJHVS—
11| BIEE H30.8.22 |EZ|F1EE |TFXE )BT |[ohBTH |R2.12.2 274 | 5335 | 68.0 8.4 3.6 8 2.33 A5 |RE—EVE=ZFE—TJHUS—
12|83 H30.9.6 8 |goitE |FE11EE |oMBH |[2oHBH |R2.12.2 269 | 5485 | 64.0 8.5 2.4 6 1.67 A4 | RE—EVE=ZFE—DHU5—
13| BB BN H30.9.8 £B8|E%97 |FE117EE |oMbH |[2hBH |R2.12.2 26.8 | 521.0 | 61.0 8.0 3.4 4 1.00 A3 |RE—EV=ZFE—TJt 5—
14| BAE H30.9.11 | EZ|RE JER 2h)BH |oABTH [R2.12.2 26.7 | 5315 | 66.0 8.1 2.9 7 2.00 Ad  |RE—EV=ZFE—DJt 5—
15|56 &L Z30 H303.22 |7 |ZF P =Flr |tFHr &4t
16|HHLY H30.4.5 HT|dLFER F1EE |tFE | EFHE R2.8.5 280 | 4490 | 67.0 7.6 3.3 6 1.67 AL |REEBATS
17|#2FS H30.4.9 ERESAE INEES AFE |HEFHE R2.11.5 309 | 563.0 70.0 9.6 2.8 8 2.33 A5 |RA—FEUZ=ZFE—Jt 45—
18|25 H30.7.1 HT|F1EE | FxE RALET  |ERACEr B2
19| f=Z#H#D1ED H30.7.13 |9 |EERE |[dE708 |+F#H™ [+F1MAM |R2.11.10 | 28.0 | 377.0 55.0 6.5 2.2 9 2.67 A5 |HREEBATE
20|2%# 207 H30.7.14 | T |F1BFEE|FEIESE |=FH  |=FHE R3.2.5 30.8 | 4440 | 65.0 7.2 2.0 7 2.00 A4 | RA—EUZFE—JtL 45—
21|p5ho&Ldp2 [H30817 |3 |EEE F2EE |HFAT  |HFHE R3.1.13 28.9 | 389.0 | 61.0 8.3 3.2 8 2.33 A5 |REA—HU=FE—Jt 45—
It | 284 | 499.8 65.1 7.9 2.7 7.3 2.09 AERUEE 94.7%
n= 19 19 19 19 19 19 19 5% fHRE 42.1%
e | BE | 0—X | NS | BT IR L= [s%K=x
A 5 (kg) (cm2) | (cm) | (cm) |(BMSNo)| (%) (%)
E8 (n=14] 28.0 | 5196 | 656 79 | 2.6 7.1 92.9% | 35.7%
|4 (n=5)] 29.3 | 4444 | 636 7.8 | 2.7 7.6 100.0% | 60.0%
24k (n=19] 284 | 4820 | 646 7.9 2.7 7.3 94.7% | 42.1%
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1|—% H30.3.1 £ |REB1650LF +#HET |+FEAS |R2.7.9 28.3 | 5080 | 80.0 8.6 2.4 6 1.67 AL |REEBATS
2|&7E H30.3.5 EB|EEE T AFT  |tFH R2.7.21 286 | 565.0 | 85.0 7.7 1.5 11 4.00 AS  |REBAEME
3[#AXKER H303.19 |EB|EXEFEEE |REB +#HET |+FAS |R2.7.9 27.7 | 4920 | 520 7.4 23 7 2.00 AL |REEBATS
4| TEXRER H30.331 | EB|LF 37 +#HET | EFE R2.7.17 276 | 5180 | 54.0 7.8 15 4 1.00 A3 |HEEBATIS
5| K ER H30.4.30 | EZ|FEAER =z +#HET | EFE R2.9.18 28.7 | 5575 | 89.0 9.8 1.6 8 2.33 A5 |RE—EVZ=ZFE—TJtV5—
6| FESNTH H305.11 | EB|XTHE F1fEE |FEF |oMBm |R29.9 280 | 4530 | 620 8.3 14 7 2.00 AL |REEATS
UEES H305.12 | EB|EER XEE +#BE™ |2ohBH  |R2.9.16 282 | 5120 | 580 7.8 2.0 4 1.00 A3 |RE—EVZ=ZFE—Tt 5—
8| E H30.5.13 | EZ AWK ttE7m8 |tFHET |tFHr R2.10.2 28.7 | 505.0 | 67.0 [ 100 | 15 7 2.00 A4 | RE—EVE=ZFE—DJHV5—
o|fEER H30.5.29 |EZB|EBEXR B 2hBH |[ohBTH |R2.9.16 276 | 6575 | 72.0 9.3 2.0 6 1.67 A4 | RE—EVE=ZFE—DHU5—
10| TEE H30.7.19 | EB|RE GiES 25 |ohBm [R2.11.17 | 280 | 5695 | 63.0 8.1 2.9 4 1.00 A3 |REA—EV=ZFE—Tt 5—
11|&LIES H303.17 | T |F1TEE |RFE HALET  |RJtHET R2.9.24 30.3 | 3840 | 51.0 6.6 2.1 7 2.00 AL |EREEBATS
12|HE H30.329 | T |FE2FEB|FE1/EE | HFAT [ FHE R2.10.28 | 31.0 | 6045 | 740 8.5 25 4 1.00 A3 |RE—EV=ZFE—TJt 5—
13|&0F H30.5.7 HT|REBA Tk &N | EFE R2.3.4 219 | 467.0 | 530 75 1.2 4 1.00 A3 |REEBATE
14| E H305.16 |7 |REBA =53 +#@A™H | EFHEr Fx4t
15|EF-05 H30.6.6 HT|FR 12 2hBH |[oABTH |R2.10.26 | 28.7 | 501.0 57.0 8.5 2.8 4 1.00 A3 |RA—FEUZFE—Jt 45—
16| B1E% H30.7.3 HT|EITEE |EX 2H)BH [DohABTH |[R2.10.26 | 27.8 | 471.0 59.0 8.3 2.6 4 1.00 A3 |RE—EU=FE—TJt 45—
17|25 H30.7.14 | H9 | R4 | LR =—FHi |=FHfr R3.2.5 30.8 | 4320 | 67.0 8.0 1.0 9 2.67 A5 | RA—FEUZ=ZFE—Jt 45—
Ity | 283 | 512.3 65.2 8.3 2.0 6.0 1.71 AERUEE 56.3%
n= 16 16 16 16 16 16 16 5% RE 18.8%
PR e | BE | 0—R | NS | BT [EIRH L= [s%K=E
Bt | (ke (cm2) | (cm) | (cm) [(BMSNo)| (%) (%)
£E8 (n=10] 28.1 | 5338 | 68.2 8.5 1.9 6.4 70.0% | 20.0%
|4 (n=6)] 28.4 | 4766 | 60.2 79 | 2.0 5.3 33.3% | 16.7%
24k (n=16] 28.3 | 5052 | 64.2 8.2 2.0 6.0 56.3% | 18.8%
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= AESL A5 |£EAB| 502 | HE0R A | BEH | AR B | 2ke) |@med| ©om éﬂ;) AEETIR & 5
1A K H30.3.18 | EB|LF TR +FHET | EAFAT R2.6.25 273 | 4490 | 500 75 1.6 5 1.33 AL |REEBATS
2| & KEB H303.24 |EB|F11HEE |REA +#@ET |+FBH X2
3|l== H30.4.7 EB|E1TEE |LER +HME™ |2H%h |R2.7.20 275 | 4100 71.0 6.3 1.0 5 1.33 AL | REA—FEUZFE—TJtV 45—
s H30.4.10 |EZ|&ZF L) +tFH |tFH R2.9.3 288 | 4710 48.0 8.0 2.0 4 1.00 A3 |RA—FEUZFE—JtV 45—
5|FEE H304.12 | EB|REA ok Rl |AFHET R2.6.9 259 | 5090 | 78.0 8.6 28 10 3.00 A5 |REEBATE
6|2 H304.17 | EB|LF 25 +FHET |EAFE R2.8.6 27.7 | 4740 | 580 75 2.1 4 1.00 A3 |REEBATES
NEDEFH H30.4.20 |EZ|EFEE xR 2hBH |[DohABTH |R2.9.16 289 | 5580 | 700 75 2.4 7 2.00 A4 | RE—EVE=ZFE—DJHV5—
B H304.25 |XEP|EI1EE |TFXB +FHET |EAFA R2.8.19 278 | 571.0 | 81.0 8.2 2.9 7 2.00 AL |REEBATS
HERRES H304.26 |EB|F27EE |REA tFEB | tFHE R2.9.10 285 | 4275 | 67.0 8.0 1.2 5 1.33 A4 | RE—EVE=ZFE—DHU5—
10| Bk AER H30.5.10 | EZ|FE1EE |[HUeRER +FHET |FEF R2.9.3 278 | 4750 | 75.0 7.4 1.8 8 2.33 A5 |REEBATE
1] B H30531 | B |FE1EE |TFXB +#ME® |+#MAT |R2.10.15 | 285 | 4640 | 65.0 8.3 2.2 6 1.67 AL |EEBATIES
122|808 H30.6.14 | EZB|RTHE Tk +#HE™ |+#@AT |R2.10.29 | 285 | 4800 | 75.0 7.2 29 7 2.00 AL |HEEBATIS
13|[ELES H302.22 | |FE1EE [Tk AT |oABmH [R2.7.20 28.9 | 496.0 | 64.0 8.7 3.4 5 1.33 A4 |RE—EVZ=ZFE—DHVS—
14|25 LD H30.3.8 HT|FEITEE |RFE +#E™ |2hBH  |R2.7.20 284 | 4680 | 61.0 9.2 26 6 1.67 A4 | RE—EVE=ZFE—DHV5—
15|9<Y H30.3.11 | T | LB F1{EE |+#@AT |+HHET |R2.7.2 27.7 | 5340 | 66.0 8.4 2.7 7 2.00 AL |REEBATS
16| PFUC H303.24 |HF|FE1EE |RiE1650Q|+FHT | EFHE R2.10.28 | 31.2 | 4475 65.0 7.1 3.2 5 1.33 A4 | RA—EUZFE—JtL 45—
17|hTulNg H304.22 |®HT|EAEE F1{EE |FEH |tFHE R2.8.12 277 | 4810 | 730 7.1 15 5 1.33 A3 |REEBATS
18|F2&L H305.14 | HT|E27EE |EEE +#HET |EAFH R2.11.12 | 30.0 | 4430 | 63.0 7.1 2.7 7 2.00 AL |REEBATS
19| [FLIFHELS  |H30.6.9 HY|EEFE REK 2h5m |ohBm [R2.10.26 | 286 | 5170 | 65.0 75 3.2 3 0.67 A3 | REA—FEV=ZFE—DJt 5—
Ity | 283 | 481.9 66.4 7.8 2.3 5.9 1.63 AERUESE 77.8%
n= 18 18 18 18 18 18 18 5% kE 11.1%
e | BE | 0—X | NS | BT IR L= [s%K=x
A 5 (kg) (cm2) | (cm) | (cm) |(BMSNo)| (%) (%)
E8 (n=11] 27.9 | 4808 | 67.1 77 | 21 6.2 81.8% | 18.2%
|64 (n=7)] 28.9 | 4838 | 65.3 79 | 2.8 5.4 71.4%
24k (n=18] 28.3 | 4823 | 66.2 7.8 2.4 5.9 77.8% | 11.1%




